o(d dxy) (cm)

02T T e

||||||||||||||||||||||||
OJ. UJ

Ratl

0.95

.........................................................................

H

—3—2—1()123

o(d dz) (cm)

—3 —2 1 O 1 2 3

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default

—— DQMstep3_SoftQCD_defaultNEWT2

..........................................................................

- i :
51-*“:1- *'!- "'...__#--l*---"' ‘fﬂ*—p

$ ------ ﬁ&# ++#+*##+ﬁ++*++#+#+

—i3—i2—'10123

TP ® (PCA to beamline)

o p_/p.)

3 2 -1 0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


